BEAKS OF FINCHES LAB: Ned Flowchart: May 22 (A) 23 (B), 2013

PLEASE READ! Please bring lab form I gave you!!

*Made with collaboration by Olivia Cheng, Nicole Leung, Janet Tang, Shirley Xu, all Stuy Class of 2010

NOTICE: 

*You are responsible for your own individual tallies. 

*You are to pick up seeds ONE AT A TIME! Do not scoop them.

*If you are eliminated, you are to quietly do the remainder of the lab at an unused island (desk). 

*Note that you may have to move between rounds if your table is to be used for large seeds or  eliminated people 

EXAMPLE. If there is only 1 pair left at your table for small seeds because the other pair went to a new island or has been eliminated, it is likely that your table will be used 

(1) for large seed dishes

(2) for people who have been eliminated or 

(3) another pair will come to your table as a small seeds species

For cases 1 and 2, you will have to move, case 3 you stay. 

Therefore, you will not interact with the same people again and again, so be aware of that. 

3 ARCHIPELAGOS:

 1, 2, 3

9 ISLANDS (3 ISLANDS IN EACH ARCHIPELAGO)
:

1A, 1B, 1C

2A, 2B, 2C

3A, 3B, 3C

4 SPECIES OF BIRDS, EACH WITH DIFFERENT BEAK FOR CAPTURING FOOD:

** IMPORTANT NOTE: EACH PAIR GETS ONE BEAK. THE TYPE OF BEAK YOU RECEIVE IS DEPENDENT ON YOUR SEATING. YOU DO NOT GET TO CHOOSE THE BEAK OF YOUR CHOICE. (please see the seating diagram)

	SPECIES
	TYPE OF BEAK

	Species a
	Chopsticks

	Species b
	Clothespin

	Species c
	Tongs

	Species d
	Forceps (beak 4)


ROUNDS (The file skips a page no matter what I do…sorry.  Don’t have time for reformat.)

	ROUNDS

	Station #1 – Round 1

	· One tray of small seeds per pair - each pair is A TEAM (a species)!!!!!!
One assigned tool [does not change – tool is randomly chosen for each pair- just sit in your assigned lab seats] 

NOW, PICK UP (not scoop) THE SEEDS WITH YOUR BEAK!

1) ( 13 seeds (at least 13) in average. Survival.  You stay or go to an island with small seeds Proceed to 3.

2) < 13 seeds (less than 13) in average. Starvation.  You go to a new island with large seeds Proceed to 4.

	Station #2 – Round 2

	A tsunami has hit these islands (fortunately, the tsunami had occurred during these birds’ migrating seasons, and these species are not extinct.) Before the tsunami, all of the islands contained small seeds. Now, a few hundred years later, there are 5 islands with small seeds, and 4 islands with large seeds (or 4 islands with small seeds and 5 islands with large seeds)

3) With another small seed species, fly to one of islands 1A, 1B. 1C, 2A, (2B) (small seed islands). 

· Two pairs will now compete for small seeds (remember to PICK seeds up with beak not scoop)

· One tray per foursome 

Results:

a) ( 13 seeds in average. Survival. PROCEED TO 5. 

b) < 13 seeds in average. Starvation. YOU ARE NOW ELIMINATED. ;[ DO NOT PROCEED TO 5 Instead, please go to an empty area and do the questions while the others compete. :]

**Please see note at bottom

4)  You are now a large seed species. With another large seed species, fly to one of islands (2B), 2C, 3A, 3B, 3C (large seed islands). 

· Two pairs will now compete for large seeds (remember to PICK seeds up with beak not scoop)

· One tray per foursome 

Results:

a) ( 13 seeds in average. Survival. PROCEED TO 6.

b) < 13 seeds in average. Starvation. YOU ARE NOW ELIMINATED. ;[ DO NOT PROCEED TO 6. Instead, please go to an empty area and do the questions while the others compete. :]

**Please see note at bottom



	**If no one is eliminated (because this is Stuyvesant, right?) then *sigh* the people with the least amount of seeds will be eliminated.  



	Round 3

	5. All of the surviving small seed species, gather at an empty island/table (3A) with one dish of small seeds and compete.

6. All of surviving large species, gather at an empty island/ table (3B) with one dish of large seeds and compete for the large seeds. 


These are specific examples used in 2007 that we’ll adjust this year, but it should help you understand the dynamic.  My 2013 class sizes are about 33, as illustrated in last scenario.

2007 Period 1 + 2 : (28 students) 

7 tables will be occupied

-Round 1: the bottom 12 go to large seeds

-Round 2: 

      small seeds (16)- the bottom 4 are eliminated

      large seeds (12)- the bottom 4 are eliminated

-Round 3: 

      small seeds (12)

      large seeds (8) 

2007 Period 3 + 4 : (31 students) 

7 ¾ tables will be occupied

-Round 1: the bottom 11/12 go to large seeds

-Round 2:

      small seeds (20/19)- the bottom 4/3 are eliminated

      large seeds (11/12)- the bottom 3/4 are eliminated

-Round 3:

      large seeds (16)

      small seeds (8) 

(2007 Period 7 + 8 : 34 students   (this is what we will use for year 2013 8-9 and 9-10)

8 ½ tables will be occupied

-Round 1: the bottom 14 are eliminated

-Round 2:

      small seeds (20)- the bottom 4 are eliminated

      large seeds (14)- the bottom 4 are eliminated

-Round 3:

      small seeds (16)

      large seeds (10) 
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3 archipelagos:

 1, 2, 3

9 islands (3 islands in each archipelago):

1A, 1B, 1C

2A, 2B, 2C

3A, 3B, 3C

4 SPECIES OF BIRDS, EACH WITH DIFFERENT BEAK FOR CAPTURING FOOD:

	SPECIES
	TYPE OF BEAK

	Species a
	Chopsticks

	Species b
	Clothespin

	Species c
	Tongs

	Species d
	Forceps (beak 4)














